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However —ISx +1<1 for -0 < x <owsothat —-1<v<]l.
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Therefore the locus of @ is the circle u” +v* = 1without the point (0,1).

Part (ii

Now —l<x<l=-1<
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Further —1<x<1:>—1£x2_1£02>—1§v£0 with y=0.
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Therefore the locus of @ is the semi-circle u” +v* =1below the x axis i.e
without the points (1,0),(-1,0).
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Therefore the locus of @ is all the imaginary axis that has negative values.

Now x=0,-l<y<l=u=0,-0< <0=-w<v<0
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Therefore —Eﬁuﬁgas —0< X<,

Clearly 0 <v<Ifor —oo<x <o
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Further u* :v(l—v):>u2 +(v_%j :(1]
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Since we have excluded v = 1then we omit the point (0,1).
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Therefore the locus of ¢ is the circle u’ +(v—%) :G) omitting the point

(0.1).




